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2. 2x(x—-1)-3x(2x—3) — (-7x* + x - 2) & V35| 5tH?

@3x2+6x+2 @ 3x2-6x+2 ® 3x%+6x-2

@ -3x®>+6x+2 ® 3x2-6x-2

2x(x—1) = 3x(2x - 3) = (=7x* + x - 2)
=22 -2 — 62+ 9x + x> —x+2
=3x2+6x+2
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D 2a2%p* @ 3ab? @4a2b2
@ b5a*b? ® 6a2b°

2b?

40a3b* = ba x 2b* x (¥=°])
(3=°])= 40a°b* + 5a + 2b* = 4a°b?




4.

2 = x 9w, 320 & x O] ABAFOR vk vehgl 2.2

O x»? @ x* @ i @ x8 (@)xm

326 — (25)6 — 230 — (23)10 — xlO




D 10

@ 11 ® 13 @14 ® 16

B

a1

(3, 3) Ex—ay+6=00l HYSIH 3-3a+6 = 0, TtA|

x=3y+6=00°] UstA -3b+6 =0, Wt b =2
x—3y+6=00° HYSIHA c - 15+ 6 = 0, TtA




(a+b+c—d)(-a+b+c+d) +(a+b-c+d)(a-b+c+d) E
A7) s ?

@ 2ad + 2bc @ 3ad + 3bc @4ad + 4bc

@ 3ad - 3bc ® 4dad - 4bc

~&B

(@a+b+c-d)(-a+b+c+d)+(a+b-c+d)(a-b+c+d)
={b+c)+(a-d)Hb+c)-(a—d)}+{(a+d)+ (b-c){(a+
d)=(b=c))

=(b+c)-(a-d)?+(a+d)?-(b-c)?

= b2 +2bc + c* —a® + 2ad — d® + a* + 2ad + d* — b* + 2bc — 2
= 4ad + 4bc




T. dx+1ly+17=9x+10y+ 15  x—y+2 S x o] B Ao=
LERHH?

O x+1 @ 2x+2 ® 3x+3
@—4x+4 ® 5x+5

4x+11y+17 = 9x+10y+15 & y ol Fote] AE|5tH y = 5x-2
oJrt.
y=5x-2Ex-y+2° YStH x— (5x-2) +2=—-4x+4
ojt}.




